(3) BARM % (T9—10)

(ER27EE)
E1H .
DEEE [ EmEE| o

F£1[0 | 26 |#HEEsH|wEEER

BERREK 2,203 2,126 1,866 1,825

EEmxE™H 833 776 469 385

] R 865 848 857 921

I 45t BT 74 75 68 56

= JnET 49 58 60 31

JI3 BT 81 86 97 80

+ RHET 19 20 23 54

J\EEHE] 69 63 66 66

=Py 54 47 53 72

BAJIF 16 16 20 8

1E0 & BT 143 137 153 152
(DEHRBRIYRNILIY O RIGERE . BCGHEFE(T9—11)

(ERR2TEE)

BCGi#i& 5%3;;; g ; °f15ﬁ7;‘£% avRIRE
! QiR

ERRE 1844 5 1839 -
EEMET 552 1l 551 -
a] B 855 2| 853 -
IR BT 60 60 -
= JNET 40 40 -
JI1ZHT 78 1 77 -
+ R HET 22 1 21 -
J\B;EHT 57 57 -
=PI 40 40 -
BAJIF 12 12 -
1, BT 128 128 -

(5)AVTILITUH(T9—12)

(ERR2TEE)
60m Ll E6smEKFBNE(65mELLE|l BEt
¥R E | wisEs | wiEEE | WEEER

ERBRH 156 421 32,192 32234
EEMxE™H 37 8 6,884 6,892
a] R 100 19 12,139 12,158
I 5t BT 2 1 1,092 1,093
=) 3 1 980 981
JI BT 3 3 1,815 1,818
+ R HE] - - 1,102 1,102
J\B;EHT 3 3 2,790 2,793
=PHIL 3 2 2,082 2,084
BEJIF — - 479 479
i & BT 5 5 2,829 2,834

85




